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Total No. 40

Math Sci 9: Test

Name: Roll No. :
Date: . -20 Teacher's Signature:

Q.1: Tick (v)) the correct answer. _q,"éutﬁ( (V)42 <1 /:Ulr'
Point (-8,-8) lie in which quadrant ? ?‘au.‘:&:_uf(-s,-B),Eﬁ -1
| (D) 11l (C) Il (B) _ IV (A)
P(-4,3) lies on the quadrant Oy lu_____P(-4,3) 2
IV (D) 11l (C) Il (B) | (A)
If (x—1,y+1)=(0,0) then (x,y) is: e sz (X,)) I (x-1Ly+1)=(0,0).1 _3
(-1,-1) (D) (1,1) (C) (LD (B) (L=1) (A)
Point (-2,-3) lie in which quadrant ? ‘e Sl uf (-2,-3) 5 -4
IV (D) 11l (C) Il (B) | (A)
Point (2,-3) lies in quadrant: e SOLGE (2,-3) 5 5
IV (D) 11 (C) I (B) [ (A)
Point (2,-3) lies in quadrant: e O S Bl (-3,-3) 5 -6
IV (D) III (C) 1 (B) I (A)
Which ordered pair satisfies the equation y=2x? ;”QI\%\} ?‘gdl,,;._jljfﬁ y=2xablalyl 7
(0,1) (D) (2,2) (C) i@\’} (2,1) (B) (192)‘__, (A)
If (x,0)=(0,y) then (x,y) is: ) AN\ © e 412 (X, 9) I (x,0)=(0,y) /1 _8
(L) (D) 0,00 ©) 2% (1,0) (B) (0,) (A)

(c . .
In which quadrant of the coordinate plane thqpé[n(ﬁ—i%) lie: ?‘adbui’&;u/édﬁf’;&j; W (=5,-2) & _9
IV (D) HIW I (B) I (A)

If y=2x+1,x=2 then ) is: <<\ :.:;_,41/,y;ﬁy=2x+l,x:2fl_1o
4 (D) QO (o) 2 (B) | (A)

10x2 =20 Write short %g rs to any ten (10) questions. -ﬁéj@yzéammoc_éf 24y
Define ordered pair of real.q mbérs. -;4:._@ /’Ul.izi.,}*;fzi;w!f -
What is the second name of cartesian plane? S Pt ka8 i
Differentiate between abscissa and ordinate. -Lg/ugdﬁuﬁ&gyjﬂmml ~iii
Plot on graph paper P(3,2) and Q(3,7) . 03,7) .5 P(3,2) :J_‘/ggLﬁé /,:.:f.-_}lj -iv
Draw in which quadrant point lie: O(=3,-2), R(2,2) _i/}g/&,@@; -V
Jraw a graph: -y =2x :u:rtﬂ.dlj -Vi
Expressing X—2y=-2 inthe form Y=mx+tc -¢/Q@uﬁy=mx+cfml;ux—2y=—2 ~Vii
Verify whether points (2,5) lies on line 2x—y +1=0 or not. ?uf_l:§. él;/? 2x =y +1=07(2,5) s6SZ J 49 _viii
Sketch a line graph: y=2x=0 :é;_b:JlfKJU -iX
Sketch a graph: x=5/2 é)ﬁ@df -X
Define coordinate axis. _é -2 }JLP&_{:&T/ <Xi
Indicate origin and coordinate axis with diagram. -é @ﬁ@&fiﬁ.?)Tﬁj'p’yL)fo =Xii
1x10=10 Write answer to any One (1) question. -“&gﬁa'ﬁgd'fugé—gf s

Solve pair of equations in x and ¥ graphically. x+y=0, 2x—y+3=0 _éfﬂga:..uafdl/i&abw 234
Solve pair of equations in x and ¥ graphically. x+y—-1=0, x-y+1=0 -“éfﬂga.uJJl/CLbu W
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xercise 8.1
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(i) Determine the quadrant of
coordinate plane in which the
following points lies
P (-4, 3)

It lies 1n second quadrant

S (2. —6)
It hies in fourth quadrant

R

@

!.

1 ¥ v
| | B

H

"
H

/\
A

4
A

| } | | .

Q (-5, -2) - Q.2  Draw the graph of each of the following
It lies in third quadrant Le.
1T i) (x=2

The table for the points of equation
x =2 18 as under
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It lies in first quadrant -i
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x=0

(v1)

XxX=-3
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(x1)

2x—y=0

2x=yor y=2x

ATAVAYVAVAYER O PN .

(x1i)

2xX —

2x—y=2

@y or y=2x-2
O

2(-1)-2=—4

2(0)-2= -2

2(1)2=0

2(2)-2= 2
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(x111)

x=-3y+1=0 = x+1=+3y

x+1
Yy =

.:N.F_

: =
. y=3(?)+1=_23_=“
2 2 |
0 y;-;(g)_-}-l:z_g..:]d
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(x1v)

3Ix-2y+1=0
_3x+]
2

}?‘

51'

-Ij.

-1+l 2

_1 '_:—_:———:—l_
B O N
3()+1 4

3 }’=—5I=3}f1=£}—=5
2 2

to x—axis (n) parallel to y—axis

Solution:

(1)

(ii)

Q.3 Are the following lines (i) parallel

2x=1=3
2x=3+1
2x=4

X =

X =

i
2
2

it 1s a line parallel to y-axis

x+2=-1
r=-1-2

X==3

V—axis

(iii)

2y+3=1
2y=2-3
2y = -1

it 1s a line parallel to

35)+1 chity.org
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=L :
y=—1i1t 18 a line

parallel
5 P

tO X — axis

(iv)

(v)

Q.4

Solution:

(a)

(b)

x+y=0
x=-y It 1s neither parallel to
X —axis nor y—axis

2x-2y =0
2x=2¥

Y
2

Xx=y

y=X

[t 1s neither parallel to x —axis nor

y—axis

X

Find the value of m and ¢ of the
following lines by expressing
them in the form y = mx +c¢

2x+3y-1=0

3y=-2x+1 @
&

—2x+1
J;:.

m = —-E- andc¢ = l
3 3

XxX—-2y=-2

x+2=2y

x+2_
>

Or

y_:a:+2
2

(©)

(e)

Q.5 Verify whether the following

Solution:

(1)

line

(11)

line

3x+y-1=0 www.pakcity.org

y=1-3x

m=-3 o=}

point lies on the line 2x-y + 1 =0
or not

(2, 3)

2x-y+1=0

2(2)-3+1=0

4-3+1=0

2%0

.. The point does not lie on the
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(0, 0)

2x-y +1=0

2(0)-0+1=0

J—-0+1=0

1#0

.. The point does not lie on the
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() (=1, 1)

2x—y+1=0

2(-1)-1+1=0

2-1+1=0

-2 %0

. The point does not lie on the
line

(iv) (2, 5)
2x—y+1=0
2(2) -~54+1=90
4-5+1=0
0=0
-. It lies on the line

v) (5 3)

2x—y+1=0 @
W

2(5)-3+1=0

@
10-3+1=0 @\

8 =0

-. It does not lie on the line %S©
@@
&
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Q.1

(1)

Ans:

(11)

Ans:

Exercise 8.2

Draw the conversion graph between
liters and gallons using the relation 9
liters = 2 gallons (approximately) and
taking liters along hornzontal axis and
gallons along vertical axis from the
oraph read.

(1) The number of gallons in 18
liters.

(1) The number of liters in 8
gallons.

We know 9 liters = 2 gallons

1 liters =-§ gallons

Solution:

18 litters=4 gallons
Scale

Along X-axis

3 hitters = 1 box

Along Y-axis

I gallon =1 box

The number of gallons in 18 liters.
=4 (rallons

The number of liters 1n 8 gallons.
=36 Liters

Q.2

N

On 15-03-2008 the exwhaugraki¢y.org

of Pakistan currency and Saudi
Riyal was as under 1SRial =
16.70 rupees

If Pakistani currency y
expression of S, Riyal x expressed
under. The rule y = 16.70 x then
draw the conversion graph between

1S an

these two currencies by taking S.
riyal along x axis.

ISR = 16.70 Rupees

Scale

Along X-axis

1 SR =1 box

Along F-axis

Rupees 16. ’? = 1 box

ill

J

F R

s
. ?

"“!llﬁll
EN\UENE
EF

i EE

Q.3

PR Ea T AN

g
— |

16.70 | 33.4

o=

Sketch the graph of each of the
following lines.

x—3y+2=10

x+2 =3y

x+2

3

=)
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Draw the graph for following

One mile =1.6km

y=1.0x

Scale

Along x-axis

1 Big Square = 1 Unit
Along y-axis

1 Big Square = 1.6 Units

1 2 3
| 32 | 4.8

it o8
ool
o
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(1) uUne acre = 0.4 hectare

vy =0.4x

1.6

Scale

Along x-axis

| Big Square= 1 Unit

Along y-axis

> | 10| 15

WwwW.pakcity.org

41 | 50| 59

03

| Big Square = 0.4 Units

5 2154-32:41 \
10 | 2x10+32=50 ¢}
: 1
15 | =x15+32=59
5
0
20 §x20+32:63

|

I {)°

Lt.,nglh of square
Where value of ¢ = x and value of f =y

A

(1v)

L8N

| Rupee = —$
P 86

Scale

Along x-axis

1 Big Square = 1 Unit

Along y-axis

8- )

I

Umts

Rupees
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Exercise 8.3

x+y=0 (I) and
2x—y+3=0—-(0)

Q.1

From equation I
from equation

11

y=—x

2x—y+3=0

2x+3=Yy

y=2x+3

Point of intersection 1s a solution
set

Solution Set= {(-L U)}

— —t— 5‘...- o— -
H=ht
| -l
X
a.l'h‘-‘H*HE =
L
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i
:

p =2
2 an ' Point of intersection is a soluti
2 2 | 7 * =2 4
.| 341 4 ' Solution Set= |
3 —=-=2 | (3.2 .y




set

1 | 1-2(1)=-1

(1.-1)

2 [ 1-2(2)=-3

| (2.-3)

—{1)=-1

(1.-1)

«2)=-2

| (2.-2)

set

Point of intersection 15 a solution

Solution Set= {(L—l)}

W.pakKcity.org
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Q.1
(1)

(11)

(iii)

(vi)

Review Exercise 8

Choose the correct answer

lf(:(' -1 y+ ]) = (0:. 0) , Then (x,y_) IS

(a) (1.-1) (b) (-1,1)
(c) (L1) (d) (-1,-1)
If (x,0)=(0,y) Then(x,y)is

(a) (0,1) (b) ( 1,O)
(c) (0,0) (d) (1,1)
Point (2,—-3) lies in quadrant

(a) ] (b) 1

(¢) 111 (d) 1V
Point(—3,-3) lies in quadrant

(a) | (b) 11

() III (d) IV
Ify=2x+1Lx=2Then yis

(a) 2 (b) 3

(c) 4 _ @s A
Which order pair satisfy the equation y = 2x (©)

(a) (1.2) (b)(2,1)

(¢) (2,2) d)(0.1)

Identify the following statement as true or false
The point O(0,0) 1s 1in quadrant 11

The point p (2,0) lies on x-axis

The graph of x=-2 is a vertical line

3-y =0 1s a horizontal line

The point Q ( -1,2) is in quadrant II

The point R (-1,-2) 1s in quadrant IV

y = x 18 a line on which origin lies

The point p(1.1) hiesonthe linex+y=0
The point S (1,-3) lies in quadrant III
The point R (0,1) lien on the x-axis

www.pakcity.org

False

True

True

False
True
False
False

False
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(iv)
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Draw the graph of the following

\/N\\o
4\V>

Q.4
(1)

vraw the following points on the

graph paper

Q.3

(-3, —3) =

(1)
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Q.5
(1)

Draw the following graph
y=0062x

1 | 0.62x1=0.62

2 | 0.62x2=1.24

3 [0.62x3=1.38 ﬁ
Scale -
Along x-caxis
1 Big Square= 1 Unit
Along y-axis

1 Big Square = 0.62 Units

_ »

T _ : .. ... :

i urd
-
—_—

N

EEEENN RN

%\O
%@é@
Do

&
ﬁ

1 | 25(1)=25

2 |2.5(2)=5.0

3 |125(3)=75

Scale

Along x-axis
@ng‘luare= | Unit
Along y-axis

1 Big Square = 2.5 Units

¥ 1
B (2.5.0)
I

L IN L

=N
_ﬂ-
|
"t .
.!.

TN
SReEe.

TN
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Point of intersection 1s a solution set

I'r[
.

Solution Set=+

301

-

Ay

|

() x =3y

www.pakcity.org

Point of intersection 1s a solution set

Solution Set= { |

X

6.2)

2x+5

b=

.
.

0 [ 20)+6 £,
, 3 3
. 2(3)+6_)d4_4
| 3 3
*lae+e_ 18,
! 3 - F -
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Point of intersection 1s a solution set

Solution Set= {(24)}

www.pakcity.org
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Unit 8: Linear Graph & Their Application

Overview

Ordered pair:
An ordered pair of real numbers x and y is a pair (x,y)in which elements are written

in specific order.

For example(2,3),(—1,-3)

Cartesian Plane:
In plane two mutually perpendicular straight lines are c}g@\g The lines are called the
coordinate axes. The point O, where the two linﬁg\@/@t is called origin. This plane 1s

called the coordinate plane or the Cart%xiﬁ@le.
O
O

Abscissa:

First value of the order'pair(.x, y) is called abscissa.

Ordinate:

Please visit for more data at: www.pakcity.org

Second value of the order pair (x,y)is called ordinate.
For Example (3,-3)

5 18 abscissa and —3 15 an ordinate





